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LET’S LEARN TOGETHER
a1 wviyLuLILULUG Luall UL JINA contains

(@)

(b)

(c)

(d)

2. The

a nitrogenous base, deoxyribose
sugar and phosphate group

a nitrogenous base, ribose sugar
and phosphate group

deoxyribose sugar, ribose sugar
and phosphate group

a nitrogenous base and phosphate
group only

process _ of copying  genetic

information from one strand of DNA
into RNA is termed as

(@)
(b)
(c)

(d)

translation

transeription

replication

mutation

3. AIDS is caused by the Human Immuno-
deficiencyVirus (HIV). The transmission

of HIV infection ‘generally occurs

through

(@) eating contaminated food and
water

(b) transfusion of contaminated blood
and blood products

(c) inhaling polluted air

(d) shaking hand with infected person

BLS-E-EDF/67A

4. In human body, the cell growth and
differentiation are highly controlled and
regulated, but in cancer cells

(@)

(b)

(©)
(@)

5. Most
(@)
(b}
(c)
(@)

there is breakdown of these
regulatory mechanisms leading to
formation of benign and malignant
tumors

controlled cell division and over-
production of genetic material
occur

RNA is mutated and produced in
less amotmt

DNA is mutated and produced in
less amount

viruses that infect plants possess
single-stranded DNA
sing1e~st?‘andfed RNA
double-stranded DNA and RNA
double-stranded RNA only

6. Syngamy results in formation of

(@)
(b)
(c)
(d)

haploid zygote
diploid zygote
non-motile male gametes

motile male gametes

7. Bleeding of gums, falling of teeth, fragile
bones and delayed wound healing occur
due to the deficiency of which one of the
following vitamins?

(@
(b)
(c)
(d)

Vitamin C
Vitamin K
Vitamin D

Vitamin B
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LET’S LEARN TOGETHER

1. DNA i gifegfRasiiege S@ 1 #:1 qaraE
Bl 87

(@) TF AR e, fertadiEEE ek
3R BTERE HE

(b) TF A @R, TgEE W 3N
HEhe TS

(c) Teoiiadiugarg wewl, UgE WehU 3N
HIEhS HHE

(d) FAE TH TS Gk AR HIEHE THE

2. DNA ¥ T% o= (¥<) 4 RNA #
AR G % Wioequ bl wfseer
FHEerd 87
(@) TEHEO
(b) FIAEH
(c) SRl
(d) SeafEdd

3. AIDS W RO TEA FRIAISTRRIGH HEE
(HIV) ®| 9M=IG: HIV GRY <1 GRTHA
forereh m1enm ¥ BT 7
(a) GG IS TE T 7€ B 9
(b) Tt Th T T IE P GOl A
(c) wEftd e § e o

(d) Hfim =afs | g frem |

BLS-E-EDF/67A

4. wra TR B wfiE 9fg w@ fave sAfatEta
wd Frafim 2 ¥, feg S Sl &

(@) T Frmes Grfaie % e & 5™ @

geH (benign) W 3eH (malignant)
g (tumor) FH TIA &

(b) Trfa e fase v sgafies e
%1 AfReaTe Bl B

() RNA Jeqiafda €1 & @ 9 A6 A
Ieqrfed BT

(d)-~DNAySERalid B @ T T A A
Ieqrfed € @

5. Ml F Tepa H ar T e |
ERIRCIN

(a) T TS ATl DNA

(b) TFS TFTD A RNA

(c) | TR IS A1 DNA 3R RNA
(@ e AR IS AT RNA

6. THT T o URVIHESERH A1 el &7
(@) ST A
(b) e g
(c) 3T 9T
(@) TR G

7. wgSl ¥ xwaE, afdt o fe, SR w1 9
A T R Ry 20 Frefefed § A
Trerfem <Y & @ Bl 77

(@) Taafm C
() faafm K
(c) fa@f@ D
(@) Tafm B

[P.T.O.
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LET’S LEARN TOGETHER

8. When a piece of pure silicon is doped 12. For which one of the following does the
with aluminium, then centre of mass lie outside the body?
(a) the conductivity of the doped ; _
~ silicon piece will remain the same (@) A fountain pen

(b) the doped silicon piece will become (b) A cricket ball |

n-type ;
(c) the doped silicon piece will become (c) A ring

p-type

d) A book
(d) the resistivity of the doped silicon ()

piece will increase

13. Which one of lowing is a physical

9. Suppose voltage V is applied acro
resistance R. :

10. Which one
semicondu

(@) Silico

(b) Germae
¢/ Qu
(@)

11. A parallel-platé~ecapacitor, with' air - (d) ‘wery near to seven
between the plates, has capadéit:
Now the space between the't

of the following is the most

of dielectric constant 7. T = 1 Acte istic property of an element?
of the capacitance will beco:
(@) C (@) Density
m < (b) Boiling point
: 7
(c) 7C (c) Mass number
el 156 (d) Atomic number
BLS-E-EDF/67A 4
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8. V& TS T % Th ghs H UgmrEd 8 12. FrefaRaa § @ froh wefi-Fs a8 & T

Hifea () foa < @, @ Bl 87

(@ "ea fufeer % ghs H el
aqfeafda @t

(b) WA Rferer 1 ST n-wEdl 5 ST (b) Tore T
(c) wea Rafash =1 ghel p-S&Hdl s ST () a1 (aam)
(@) WG fufer % ghe H wlaQeshar 5g

(@) TRRA UA

(d) g

11. T AR wiEe GUiiE, fwee afgwme # ol
F gan g, A @i C ®) o1 AUl Sl
afghieit % o 6 T h o T, SE
R 7 &, ¥ W STAT 8| qe Il
ERIR LI

(@) Hdcd
(@ C _
63

(c) FEHHM TEAT
(c) 7C

@ 14c i ' (d) I FHI

BLS-E-EDF/67A 5 a [ P: 0.
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16. o mmmmmmmeeee  wwewadm (@tomic 20. In which one of the following States

number 20) and argon (atomic
number 18). The mass number of both
the elements is 40. They are therefore
known as

(a) isotones
(b) isochores
(c) isobars

(d) isotopes

17. Plum Pudding Model’ for an atom was

proposed by

(a) Antoine Lavoisier
(b) Robert Boyle

(c) Ernest Rutherford
(d) J.J. Thomson

18. What is the number of atoms in 46 g of

sodium-23 (V = Avogadro constant)?
(@) N/2 (b) N
(c) 2N (d) 23N

19. Which one of the following statements is

correct?
For the purpese of Census 2011

fa) a person aged seven and above who
can both read and write with
understanding in any language is
treated as a literate

(b) a person aged eight and abéve who
can both read and write with
understanding in any language is
treated as a literate

(¢) a person aged nine and above who
can both read and write with
understanding in any language is
treated as a literate

(d) a person aged ten and above who
can both read and write with
understanding in any language is
treated as a literate

BLS-E-EDF/67A

is Loktak Lake situated?
fa) Sikkim

(b) Himachal Pradesh
(c) Manipur

(d) Meghalaya

21. The ratio of gross cropped area to the net

sown area is called

(@) cropping intensity

(b) intensity of crop rotation
(c)__crop productivity

(d) cropping diversity

22. Which one of the following is the correct

sequence of occurrences of rivers from
Chennai to Kolkata when travelled by
road (shortest distance)?

(a) Krishna, Kaveri,
Mahanadi, Subarnarekha

(b) . Krishna, Periyar,
Mahanadi, Subarnarekha

(c) Penneru, Krishna, Godavari,
Mahanadi, Subarnarekha

(d). Penneru, Mahanadi, Subarnarekha,
Godavari, Krishna

Godavari,

Godavari,

23. Which one of the following statements

with regard to volcanoes is not correct?

(a) \Stratovolcanoes produce lava flows
that initially follow valleys but are
highly resistant to erosion.

(b}~ The surrounding areas can remain
highlands, lava ridges or mesas.

(c) Hawaiian shield volcances are
eroded by streams that form deeply
carved valleys with steeply sloping
heads.

(d) The system of streams on a
dissected volcano cone is not a
radial drainage pattern.
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. A TE—hlcHaH (WA HEH 20) IR AFH

(TE FEE 18) B A el hl FAHAM
&A1 40 B | XY e B A FR A 87

(@) T
(b) WEATIAH
(c) THWIE

(d) FHEATHS

. T qm % foe ‘v gfen Aiew’ foeush g

e R AT?

(a) TR ATEER
(b) Ve ST
(c) HTE TS
(d) o Slo HHHA

. Wifeam-23 % 46 g A G &1 Tl Fhee

R (N = IEmTER )
(@) N/2 (b) N
(c) 2N (d) 23N

10. Frafafaa & ¥ BH-91 H24 T 87

SHTUMT 201, % FESH g

(@ W@ a9\ o8 St =g W1 Wl
safer, ST foRet oft s A wHE o WY e
afit ot ke B, TER |WEN AT &

() @3 af iR TR ARE IY F OHE
=fer, <) forel oft 9o A wRe & Y 9
iR fora gepan B, TIER GHEN SIAT B

(c) ad 3R el Atk Ty 1 BR A,
I fE oft wmw # wng % Wy 9g iR
ToRa g ¢, T8N GHe S §

(d) =\ ad R E Afiek Y F FS A,
i e f ww # ¥ @y wg 3R
Torg |l &, GIER THE ST &

BLS-E-EDF/67A

20

21

22

- 23

. Frefafaa § & fra v # dees A fom w7

(a) Tafem
(b) e wam

(c) TR
(d) T

. F TE-hd ¥ TRdfaE IS & b g

1 FT HTT AT 87
(a) I HEAD

(). S =ish, <1 ISl
(c) HES] Ieqreshdl
(d) = fafaee

. S | Il Sl AR Wed " (R W)

FJoan W, g f sufefa w1 wd wA
ferfaflad 8 @ S9-91 87

(@) O, SR, MeEd, TEE, gEoRan
(b) T, ARAR, TMeEk), TEE, i@
(c) aa—a! m’ l a af's Helr E.‘I, ﬁauit@

()T, WEEE, geritan, e, Feon

. Sarefadl & ey # frafafea 7 @ wh-a

e Hel TE 87

(a) FARG ST AT 1 39 N &,
S eTRe # mifEl 1 STgE A T,
Ty ST <1 2Tcfies Wiokiedt 2

(b) ITRE-TE % & I=H, A& RS (he)
e BT ® 9

(c) TATE TR Sarergdl el gR Wi
2, PR v eam & i Tl 1wl
Fehol wnfeaf st B

(@) Treht Rrafa SaTamge Wig W gt #
e T e srvare gfved T8 B B

[P.T: 0.
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24. Kwashiorkor disease in children is
caused by

{a) sufficient carbohydrates but less
fats in diet

(b) sufficient carbohydrates and fats
but deficient proteins in diet

(c) sufficient vitamins but deficient
fats in diet

(d) sufficient fats but
vitamins in diet

deficient

25. The mammalian heart is myogenic. and
it is regulated by'nerves. The heartbeat
originates from

{a) sinoatrial node
(b) QRS wave
(c) T wave
(d) hepatic portal system
26. The plant growth regulators are small,

simple molecules of diverse chemical
composition. They are

(a) carbohydrates, fats and proteins

(b) indole compounds, adenine deriva-
tives, carotenoids and terpenes

fc) fatty acids, ‘glucose and vitamins
(d) vitamin C, vitamin D and glicose
27. Consider the electromagnetic fadiations
having wavelengths 200 nm, 500 nm
and 1000 nm. Which wavelength(s) of

the following can make visual sensation
to a human eye?

(@) 200 nm and 500 nm

{b) 500 nm and 1000 nm
fe) 500 nm only

(d) 200 nm and 1000 nm

BLS-E-EDF/67A

28. A copper wire of radius r and length [ has
a resistance of R. A second copper wire
with radius 2r and length ! is taken and
the two wires are joined in a parallel
combination. The resultant resistance
of the parallel combination of the two

wires will be
S5
(a) SR (b) 4—R
4 R
(c) ER (d) =

29."A parallel-plate eapacitor of capacitance
G, is_made using two gold plates.
Another parallel-plate capacitor of
capacitance €, is made using two
aluminium plates with same plate
separation, and all the four plates are of
same.area. If p, and p, are respectively
the clectrical resistivities of gold and
aluminium, then which one of the
following relations is correct?

(@ C>GC
®) C3>G
(c) Gpga=Cypg
(d C=C,

30. A photon of X-ray has energy of 1 keV.
A photon of visible radiation has energy
of 3 eV. In this context, which one of the
following statements is not correct?

(@) The wavelength of X-ray photon is
less than the wavelength of visible
radiation photon.

{b) Both the photons have different
energies.

c) The speeds of both the photons in
vacuum are different.

(d) The frequency of X-ray photon is
higher than the frequency of visible
radiation photon.
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24, F= W HIRSRER A7 foFg ror 4 ger 87

(a) ER H VAW HEIeRge, Thrg a9 @l
et

(b) HTER H FEieEee R I61 6t qgiy 9,
Teorg W = et

(c) FTER T v T, foheg awn 6t et
(d) ITER T iy T, feg foerfiet &

25. Miftrm geu i R ofr @' dfreet gm
Frafia e &1 729 W< Fuf ¥ TR BT 87

() TR A

(b) QRS BMH=%

c) T S

(d) Tt fHaffEs Sud

26. YU 94 TEes, e TEEEes SEEe &
DI, HIYRY ] BT &1 A 1 &7

(a) HEEESE, o6 AR HEH
(b) e Aie, USHHA Fead, HlleAgs AR
i

(c) TEI-3T, TR SIR feleiiv
(@) Fafa'c, fefm D R

27. W fogg-gedm RIfFoT w @R #iR,
fS7% e 200 nm, 500 nm 2R
1000 nm & Fr=fdfgas & 8 #F-w1/3
TR AME A7 W gE-gd & Fwa 8/
Thd 77

(@ 200 nm 3R 500 nm
() 500 nm 3R 1000 nm
(c) FFA 500 nm

(d) 200 nm 3R 1000 nm

BLS-E-EDF/67A

28. TS r Wd @S [ % T dle % AR 1 WRRIY

R R dfs &1 w @ ar, R Bs 2r w
=g 1§, Tormn e ® 3R W Sl ARl W T
AR HASE B OSel T R dM dW &

AR GASE 1 gRor wfely fean gme
5
(@) SR () ;R
4 R
(c) §R (d) T

29 WA A Ui Fh A TH FHRR Ui

Gy s T R, SRl i@ ¢ 71 O
R THFR Ul qymier, YgifEm o @
gigshretl =l o s T g, fSeeh i
C, ®| M Wemfel s 9femen w1 I
THGHA © R et SR ufEEel w1 aEwd
SR B 9 |9 R gt Y S
gﬁﬁaﬁrﬁmngaﬂtpa%,ﬁrﬁmﬁ“«rﬁﬁ
T Y -9 gy e 87

(@ G >C
@) GG
(c) Gpq=Cypy
(d) C=0C,

30. UTHI-[H01 % Th BIEH Y S 1 keV ¥ §H

faferto o1 T FEHE B S 3 eV BRI W
e o Frefafag § 9 sE-w wue wd
27

(a) TFA-TROT B 1 qUTesd, gy fafeo
I & TUCE o FA B

(b) BRI A A S fE R
(c) Tafa # <Mt Bkt 1 =re e 7

(d) TEE-ToRor w6t otafh, sw fafeo
HIH Y Tl & it #)

[P 6.
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responsible for the observation of
rainbow on a rainy day is

(a) diffraction
(b) interference
{c) dispersion

(d) reflection

32. With regard to ‘ProjectsTiger’; which one
of the following statements is not
correct?

(a) It was launched in India in the
year 1973.

(b) The objective of the Project is to
preserve [the habitats and  tigers
therein as natural heritage.

{c) The Project emphasized to ensure
viable population of tigers in India.

{d) There are no Tiger Reserves in
north-eastern part of India.

33. Which one of the following is' not a
biosphere reserve of India?

(a) Agasthyamalai
(b) Nokrek
fc) Great Nicobar

(d) Great Himalayan

BLS-E-EDF/67A

34. Which one of the following statements
with regard to the Indian Railways is
not correct?

(@) The Indian rail networks have been
developed throughout the Konkan
coast.

(b) There is very low density of railway
lines in the Himalayan region.

(c) The north Indian plain has a dense
network of railway.

(d) At present, India has the largest
railway network in the world.

35. Which of the following statements with
regard to the Mediterranean agriculture
isfare correct?

1. The Mediterranean agriculture
is highly specialized commercial
agriculture.

- Al is intensive subsistence
agriculture dominated by wet
paddy cultivation.

3. It is a primitive subsistence
agriculture.

4. Viticulture is a speciality of the
Mediterranean region.

Select the correct answer using the
code given below.

(@ 1 only
(b) 2 and 3
(c) 1 and 4 only

(d 1,3 and 4
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31. aui % Rt fo Spugw % R wed ¥ fw 34. ™ e % gy 1§ At § @ s99-w

F-H TEET T gEd € ¥ IuEr 27 _ FHo TE TE af

(a) Feer (@) G FE gz W A | F Sead
o ﬁraaﬁm‘agm%l

i S {b) mmﬁwmﬁma@
(d) T

(c) IW YA & HaMl &3 ¥ Ige H Aedh

e

32. ‘WNw TER' G
Tﬁ‘l-‘m FY4 Ha r -_";

(@ 38 o 1973 #
7|

(b) ¥ T
T Y HUEd & o T i sfafafm s %Tﬁ

(d) ¥Rd % qq
2l

33. ffafaa § @ #W-w sfersa w1

o TE 87
» (@) Faa 1
) A (b) 2 3R 3
(c) e R (c) Fad 1 AN 4
(d) ﬁ?%ﬂmﬂ? i (d 1,334
BLS-E-EDF/67A 11 [P.T: O.
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36. Which one of the following statements

with regard to the winter solstice is
correct?

(@) The South Pole experiences
24 hours of darkness.

(b} It occurs on June 21.

{c/ The . North Pole experiences
24 hours of darkness.

(d) The Sun is at aphelion.

37. Tropical evergreen rain forest biome

provides optimum environmental
conditions for the growth of plants and
animals. Which one among the following
statements regarding this is not
correct?

fa) 1t has heavy rainfall and high
temperature throughout the year.

fb) This biome™is also called mega-
thermal biome,

() The evergreen rain forest biome
extends between 10°N and 10° S
latitudes.

(d) The maximum development of this
biome has taken place in central
and southern California, and north-
western coastal lands of Africa.

BLS-E-EDF/67A

38. Tsunami waves are the undersea

occurrence of earthquake exceeding
75 on Richter scale. Which one of
the following statements regarding
this is not correct?

fa) It often generates strong waves.

(b) The Pacific coasts are most
vulnerable to Tsunami waves.

() Tsunami waves \are also called
high-energy tidal ‘waves or seismic
sea_waves.

(d) Tsunami is a Latin word.

39. Which of the following statements with

regard to cloudburst is/are correct?

1. /It is defined as sudden localized
very heavy downpour with cloud
thunder and lightning.

2. | It mostly occurs in the hilly areas.

3. It results into very high intensity
of rainfall, i.e., 250 mm-300 mm in
a couple of hours.

4. It occurs only during daytime.

Select the correct answer using the code
given below.

¢ 1,2 and 3
(b) 1, 3 and 4
{c) 2 and 3 only

(d}) 2 only
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36. YA @ & Wy § frefaflag § @ 38. ¥4% & 9 g Wha W 75 ¥ Aaftm
HH-H HoF TE BY EFFY 3T 1 AT I gAH a8t FEd §1
oy ® F=fafeag & @ s9-a1 $om ad w8t

??

(@) <faolt ga W 24 w2 F8T TR E B
() T9Y TH: HIH El I Bl &

(b) FE 21 S H B R ' (b) TR HEEIRA q2 YA el & feg
arfe goe 8|

(c) ST Yo W 24 W YT BT e B () W?ﬁﬁﬁﬁ—mﬁwﬂﬁm
el RG] s wEd 8

(@) g3, gI T 2 & (d) G (Tsunami) T @fe e B

39. I TEhic. (I Hed) & qeary F fFrfeafaa

N — | ey _ T I -91/8 HUF 98l B /87
o mﬁ@ﬁﬁ%m%wwi 1. &9 Sed e 3R el wmet & Wy
TeH WAl B 59 weE § Refora o 4 , Tl ®9 W SEEE o 9gd W
P91 F7 Td e or ;gﬂwwaﬁ%wﬁqﬁmﬁﬁ%mw
|
2. gl AfRe: gRrE &3 § | 2
(@) T FI-R 9 e € SW 3. % uRUTHEET §gd dw awl (svfq
TN $9 ® el § 250 mm-300 mm )
Bl
(b) <@ SEE A - qE e A 4. & e o % e i @)
e g e e w1 wEm W Ed S gRv)
(c) Wﬁ'aﬂf-aqﬁﬁa‘mlowai‘r(lms @ 1,233
A& o < P g B
() 1,3 3R 4
(d) 38 Sam & Afteay faem w9 w (c) Faa23fr3
sfaeft  Sfawear aw oenfler %
Eﬂ'{-‘qﬁ%ﬁﬂ'&q?ﬁﬁﬁgaﬂ%l (d) *ae 2
BLS-E-EDF/67A 13 | [P.T.O.
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40. Which one of the following with regard
to Aridisol, one of the soil orders, is
not correct?

(a) Lack of water for plants during
most part of the year

(b) High organic matter

(c) Large accumulation of carbonates
at depth

(d) Absence of deep. wide eracks

41. What is the maximum number of states
of matter?

{a) Three
(b) Four
{c) Five

(d) Variable

42. The chemical ‘properties of an element
depend upon

fa) the number of isotopes of the
element

(b) the mass number of the element

(c) the total number of neutrons in the
element

(d) the number of electrons in the
outermost shell of the element

BLS-E-EDF/67A

43. Which one of the following statements
is not correct?

(a) The cathode rays originate from
cathode and proceed towards the
anode in a cathode-ray discharge
tube.

(b) The television picture tubes are
nothing but cathode-ray tubes.

(c} The cathode rays themselves are
not visible.

(d) The characteristics of cathode rays
depend upon the ‘nature of the gas
present in the cathode-ray tube.

44. The molecular mass of sulphuric acid
is 98. If 49 g of the acid is dissolved in
water to make one litre of solution, what
will be the strength of the acid?

(@) Two normal
(b) One normal
(c)/ 0-5 normal
(d) Four normal
45. Which one of the following statements

with regard to Jet stream, an upper
level tropospheric wave, is not correct?

(@) It is a narrow band of high-velocity
wind.

(b) 1t follows the wave path near
the tropopause at elevations of
8 km to 15 km.

(c) Jet streams are typically continuous
over long distances.

(d) In summer, the polar front jet
achieves its maximum force.
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current in the Atlantic Ocean. Which
one of the following statements with
regard to this is not correct?

(@) It is similar to the Kuroshio current
in the North Pacific Ocean.

(b)

It transports warm, tropical water
towards polar region.

fc)

(d)

47. Which one of the
industry of
correct?

fa) High yie

(b)

Higher sucrose content

(c)

Long crushing season

(d)

coast

BLS-E-EDF/67A

Most of the mills in the Peninsula
are located mainly along the east

48. Rand/ZAR’ is the currency of
fa) Burundi

(b) Libya

Sudan

(c)

South Africa

(d)

f{)llowing ports is

owing statements

elumbo nucifera Gaertn is the
national flower of India.

c)

Ficus benghalensis is the national
tree of India.

(@)

Mangifera indica is the national
animal of India.

16
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51. Which one of the following statements is
correct in relation to the GST Bill passed
by the Rajya Sabha in August 2016?

fa) 1t will replace all central taxes,
duties, etc., only by a single tax.

(b) It will subsume central as well as
State taxes, duties, etc.

fc) GST will be levied on alcoholic
liquor for human consumption at a
uniform rate of 25 percent.

(d) Petroleum and petroleum products
shall not be subjected to the levy
of GST.

52. The sensitive information leaked @ in
August 2016 concerns which one ' of
the following defence platforms of India?

fa) Fifth Generation Fighter Aircraft
(b) Combat Helicopters
(c) Submarines

(d) Unmanned Aerial Vehicles

53. How many medals were won by India
in 2016 Summer Olympicg?

(a) One Silver and one Bronze
(b) Two Gold
fc) Two Bronze

(d) None

BLS-E-EDF/67A

54. India became a member of which one
of the following in 2016?

fa) Non-Proliferation Treaty
(b) Missile Technology Control Regime
(¢) Nuclear Suppliers Group

(d) Wassenaar Arrangement
55. India signed an, agreement in 2016 to
develop a strategic port in one of its

neighbouring countries. What is the
name of the port?

fa) Chabahar
(b) Gwadar
(.c} Hambantota
(d) Mongla
56. Which one of the following statements
is not correct in respect of the

South Asian Association for Regional
Cooperation (SAARC)?

(@) Its, Headquarters is located in
Kathmandu.

(b) China is the only country with an
Observer status in SAARC.

(c) The First SAARC Summit was held
in Dhaka.

(d) The Eighteenth SAARC Summit
was held in Nepal.
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57. Which of the following statements about

the Ilbert Bill (1883) is/are correct?

1. It proposed to grant limited
criminal jurisdiction to native
officials.

2. It proposed to grant complete
civil and criminal jurisdiction to
native officials.

3. The ©proposed Bill generated
opposition from England’s European
subjects in India.

4. In spite of opposition to the Billy
it was passed without any
modifications,

Select the correct answer using the code
given below;

fa) 1 and 2
(b} 2 only

fc) 1 and 3
(d) 3 and 4

58. Consider the following statemernts about

the Second Five-Year Plan :

1. It was drafted under the leadership
of K. N. Raj.

2. It proposed that industries
like electricity, railways, steel,
machineries and communication
could be\ developed in the public

sector.

3. The drafters found balancing
industry and agriculture very
difficult.

4. The  drafters found / balancing

industry and agriculture really easy.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2
(c) 2 and 3
(d) 3 and 4

BLS-E-EDF/67A
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_ 59. Consider the

following statements
about the different meanings of ‘Swaraj’
as articulated by Mahatma Gandhi :

1. Swaraj is  intimately linked
with Ahimsa (non-violence) and
Satyagraha (adherence to truth).

2. Swaraj has two senses—one
© political and one beyond the realm
of politics.

3. Swaraj is something that requires
time and patience to acquire.

4. With determination, Swaraj could
be obtained easily and quickly.

Which of the statements given above
is/are correct?

(@) 1 only
(bj) 1 and 2 only
(c) 3 and 4

(d 1,2 and 3

60. What was/were the formative influence(s)

on the philosophy of Mahatma Gandhi?

1. Gandhiji was influenced by the
: 18th century Pranami sect that
advocated the unity of faiths.

2. Gandhiji was influenced by the
theosophists.

3. Gandhiji was an admirer of
the writings of Romantics like
Wordsworth.

Select the correct answer using the code
given below.

{a) 1 and 2 only
(b) 2 and 3 only
fc) 1,2 and 3
(d) 1 only
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61. Which of the following statements about

the Shiromani Gurudwara Prabandhak
Committee (SGPC) are correct?

1. It began as the political wing of
the Singh Sabhas in the late
19th century.

2. It was formed in 1920 as part of the
upcoming Akali movement.

3. It was founded to reclaim control
of the Sikh shrines from the
government manipulated loyalist
committees.

4, It formed the Akali Dal | to
coordinate _groups..(Jathas) to
reclaim €ontrol of the shrines.

Select the/ correct answer using the
code given below.

(@ 1, 3 and 4
(b) 2, 3 and 4
(c) 2 and 4 only
({d) 2 and 3 only

62. Which of the following statements with

regard to the speech of Mahatma
Gandhi at the opening of the Banaras
Hindu University are correct?

1. He charged the Indian elite with a
lack of concern for the labouring
poor.

2. He asserted that our salvation can
come only through the fammers.

3. He highlighted the plight of the
untouchables.

4. He promised to take up the cause
of the mill owners of Ahmedabad.

Select the correct answer using the
code given below.

(@) 1, 2, 3 and 4
(b) 1 and 2 only
(c/ 1, 2 and 3 only
(d) 3 and 4 only

BLS-E-EDF/67A

63. To be eligible to contest election

under the Haryana Panchayati Raj
(Amendment) Act, 2015, a candidate
should

1. have a functional toilet at home

2. have payment slips of power bills
3. not be a cooperative loan defaulter
4

have studied minimum matricula-
tion irrespective of category

Select the correct answer using the code
given below.

(@) 1,2 and 3 only
(b) 1, 2 and 4 only
fcg 1,2, 3 and 4
(d) 3 and 4 only

64. Arrange the following Commissions

chronologically on the basis of their date
of setting :

1., The Second Administrative Reforms
Commission

2. The Eleventh Finance Commission
3+ Punchhi Commission
4.  /Sarkaria Commission

Select the correct answer using the code
given below.

(@) 3 Z2.uisls
{(bA 4, 3, 2, 1
e %2, 4,1
5% 1, 2

65. Who among the following won a

Gold medal for India in Men’s Javelin
Throw event at the 2016 Rio Paralympic
Games?

(a) Rinku Hooda

(b) Devendra Jhajharia

(c) Sundar Singh Gurjar
(d) Mariyappan Thangavelu
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66. Which of the following statements with

regard to Panchayats in India are
correct?

1. Seats in a Panchayat are filled by
direct election from the territorial
constituencies in the Panchayat
area.

2. The Gram Sabha is the body of
persons registered in the electoral
rolls relating to a village within the
Panchayat area.

3. The Panchayats work on
the principle of constitutional
autonomys

4. The State Legislature may by law
endow the Panchayats with the
power and authority to enable them
to function.

Select the correct answer using the code
given below.

(@ 1,2 and 3
(b) 2, 3 and 4
fc) 1, 2 and 4
(d) 1 and 4 only

67. Which of the following statements

regarding Indian federal system is/are
correct?

1. All States have equal represen-
tation insthe Rajya Sabha:

2. Consent of a State is nét required
for altering its boundaries.

3. There is no dual fitizenship in
India.

Select the correct answer using the code
given below.

(@ 1,2 and3
(b) 2 and 3 only
(c) 1 and 3 only
(d) 2 only

BLS-E-EDF/67A

68. Which of the following are the powers of

the Supreme Court of India?
1. Original jurisdiction in a dispute
between the Government of India

and one or more States

2. The power to hear appeals from the
High Courts

3. Passing decrees and orders for
doing justice in any matter before it

4. _Render advice to the President
of India inhmatters of law

Select the correct answer using the code
given below.

(@) 1, 2, 3 and 4
(b} 1, 2 and 3 only
() 1 and 2 only

(d) 3 and 4 only

69. Which one of the following is not a

component of Revenue Receipts of the
Union, Government?

{a) Corporate tax receipts

(b) Dividends and profits

{c) Disinvestment receipts

(d) Interest receipts
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70. TRIPS Agreement pertains to 73. Which of the following statements about

(a) international tariff regime
(b) intellectual property protection

(c) international practices on trade
facilitation

(d) international taxation of property

71. The 7-6% growth rate registered by

Indian economy during the year
2015-16 is based on

(@) Gross National Productratrmarket
prices

(b) Gross Value Added at constant
prices

fc) Gross Domestic Product at market

Bitcoin is/are correct?
1. Itis a decentralized virtual currency.

2. It is generated through complex
computer software systems.

3. The Reserve Bank of India
recognized it as a legal tender
in January 2016.

Select the correct answer using the code
given below.

fa) 1 only

(b) 1 and 2 only
(¢) 2 and 3 only
d 1,2 and 3

74. Hindustan Aeronautics Limited handed

over the first two indigenously designed

PRoes and manufactured light combat aircrafts
(d) Gross Domestic Product at to the Indian Air Force in 2016. What is
constant ‘prices the name of these new combat aircrafts?
(@) Marut
72. Which of the following statements about 0 Aca
the Trans-Pagific Partnership (TPP) .
is/are correct? (c) Tejas
1. The TPP was signed by 12 Pacific (d) Pushpak

Rim nations in the year 2015.

2. The TPPR is, likely to be a
game-changer in global trade as
member countriés account for
about 40 percent of globall GDP.

3. India is a founder member of TPP.

Select the correct answer using the code
given below.

fa) 1, 2 and 3
(b) 1 and 2 only
fc) 2 and 3 only
(d) 1 only

BLS-E-EDF/67A
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75. Consider the following statement about a

famous football player :

“He was diagnosed with a growth
hormone deficiency during  his
childhood but went on to win three
European Golden Shoes in his career.”

Who is that player?

{a) Andres Iniesta
(b) Lionel Messi
fc) Cristiano Ronaldo

(d) Zinedine Zidane
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ﬁﬂ:”%li@ﬂ ﬁ'ﬂ'l’( %Iiﬁ& :
e 8 9= < H B ﬁ:z{;w o B
: ‘ST A 3Teqdl o
3. 9Rd, TPP &1 U GEIh Ha& & | == & G IR R e
T Ry TT g2 1 T W wE IR AT 1 gEEpR st
(@ 1,233 34 Raedt &1 M w0 87
(@) TS e
b) FHad 1 3R 2
% (b) ToEme Teh
() a2 33 () Trfem e
(d) Faa 1 (d) T e
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76. Which of the following statements is/are
correct?

1. In June 2016, the LIGO group of
scientists announced the detection
of a second set of gravitational
waves.

2. Gravitational waves were generated
due to merger of two black holes at
about 1-4 billion light-years distant.

3. Gravitational waves were inserted
due to collision of two white dwarf
stars at about 1-4 billion light-years
distant.

Select the corréet answer using the code
given below/
(@) 1 only
(b)) 1 and 2 only
(c) 2 and 3 only
({d 1, 2 and 3
77. In the year 2016, the Government of
India announced a ¥ 6,000 crore special

package for the textile and apparel
sector to

1. create bne crore jobs within three
years

2. create jobs equally for men and
WOIMEN

3. provide tax and production
incentives for the entrepreneurs

Select the correct answer using the code
given below.

(@ 1 only

(b) 2 and 3 only
(c) 1 and 3 only
d 1,2 and 3

BLS-E-EDF/67A

78. Which one of the following is not an Inter-
Services Establishment?

(@) Officers Training Academy
(b) National Defence Academy
(c) National Defence College

(d) Armed Forees-Medical College

79. Which one of the following is a Peacetime
Gallantry Award?

(a}j Shaurya Chakra
(b) | Vir Chakra
(c) Yudh Seva Medal

(d) Param Vir Chakra

80. The Headquarters of the Southern Naval
Command of the Indian Navy is located
at which one of the following places?

() Karwar
(b) Kochi
fc) Thiruvananthapuram

(d) Chennai
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76. T # & F-w1/3 o 6 ¥/37 78. PR # ¥ F-w T w-aRiw wREE
1. 4 2016 # AWPE ¥ LIGO @ 3 (Inter-Services Establishment) 7€ &7
Teet avt % fdw e f @ _
= "o ) (@) o ufigo swpredft (siifrad 2fm
2. Te™ a@ it Iafa e 14 faferm )
werr-ad A g A = Al (black
holes)%ﬁlﬁqeﬁwﬁﬂﬂl (b) TEH & FhrEH!
3. TEER T @ 14 Tt yem-ad '
# gl W & whe T A’ R (c) TEE W AETEneE
R fifee g off

A . R AR F Sl R R gee
3. SafEl # R I M N
. I 7 Y forg wm w7

(b) =

(b) FHadA 2 3R 3
(c) Faw 133 G

(@ 1,233 (d) =3

BLS-E-EDF/67A 29 [ P.T: O

Join Telegram : https://t.me/defenceekaksha



81. Match. List-1 with List-II and select the
correct answer using the code given

below the Lists :

List-I List-IT
(Act/ Event) (Year)
A. Rowlatt Act 1. 1922
B. 8alt March 2. 1931
C. Chauri Chaura Incident 3. 1930
D. Second Round Table 4. 1919
Conference
Code :

@ A BAC D

4 3 1 2

(b) A B C D

3 1 4 2

(c) A B (€ D

4 3 2 il

d) A B C D

3 4 2 1

82. Consider the following statements about
the Salt March :

1. The Salt March was deliberately
ignored by the European media.

2. The Salt March was widely covered
by the American and European
press.

3. The Salt “March was the first
nationalist activity in which/women
participated in large numbers.

4. The Salt March impressed upon the
British the urgent need to devolve
more power to Indians.

Which of the statements given above
are correct?

fa) 1, 2 and 4
(b) 2, 3 and 4
f) 3 and 4 only
(d) 2 and 3 only

BLS-E-EDF/67A
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83. In the elections to the provincial
legislatures in 1937 in British India

1.

only about 10 to 12 percent of the
population had the right to vote

the untouchables had no right to
vote

the Congress won an absolute
majority in five out of eleven
provinces

the Muslim League won more than
80 percent.of the seats reserved
for Muslims

Select the correct answer using the code
given below.

@
(b)
(c)
(ci)

1, 3 and 4
1 and 4 only
1 and 3 only

2,3 and 4

84. Which of the following statements about
the social base of the Arya Samaj in
British India is/are correct?

1.

It was located mainly in Punjab and
western Uttar Pradesh.

It 'mainly comprised the trading
castes.

It was much more limited than that
of the Brahmo Samaj.

Select the correct answer using the
code given below.

(@)
(b)
(c)
(@)

1 and 2 only
2 and 3 only
1 only

1, 2 and 3
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81, HE-1 H YH-II ¥ @y gafem Fvm MR

gl & = fow 7T F2 F OER =W Ed TN
ghm
-1 -1

(erterfFam fae) (=d)
A. {ere Wge 1. 1922
B. 9% 6N 2. 1931
C. = 9 " 3. 1930
D. i Me d wdem 4. 1919
e :
@ A /B C D

4 [ 3 L2
() A ' B /€ D

3 W |
& A B '€ D

4 B B 1
d A B € D

3 & 2 1

82, T #H % &R H FHfefiad FoHl W foER
Hifer :
1. TR SAEER AEE GR STHeEeR

2.

T AT Bl TS R TR o
iR 3R qOREA 9 g1 TH A
=Teh Tareeor o= mE 4

T HTE ggel! Upard fafafy of, R
Hfgenedl A s de § few foman|
9% A= 4 Bea | ag vE s 5
IRA™! & 3R o1ftes Siftmer gl
T awHal 2

i ol § A -3 T

(a)
(b)
(c)
(d)

1, 2 3R 4
2, 33 4
*ad 3 3R 4
*ad 2 3R 3

BLS-E-EDF/67A
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83. ffew 9wra & 1937 & widw fRurdsa ¥
gAE

1.

T 10 ¥ 12 wiawa S=6Edt $1 & 94
o= o1 ftreRm o

Tl ! HA I T SAMHR & o

HRE # @ df Aidl § HEW e TgHa A
forereht 58

gt % forg stmfda @2 7 @ 80 wftwra
¥ e Hieh.qegfem & it fosw wmw

&

= faw T e 1 W W W IW g
(@ 1,3 3R 4
(b} Hae 1 3R 4
(c) ¥aa 1 3R 3
(d) 2,334

84. fafdw sma & o owe & gmiive oTum %
gy 1 Frafeafe 8 @ S9-w/8 wum wd

#/87
1,

I8 GEAq: G SR ufvedl IW ey o
srafem o

geil Wegq: SqTar st gaiae of)

I8, F@ WA H gAN H dga Il
HifHg |

= fou MY e 1 WA R wE I gR)
(@ “ad 1 3R 2

(b) HaA 2 3R 3

(¢) Fad 1

(d 1,233

[BE. O.
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85. Who among the following is the author
of the book, A Comparison between
Women and Men?

(a) Pandita Ramabai
(b) Sarojini Naidu
(c) Tarabai Shinde
(d) Rameshwari Nehru
86. The fact that the planets move around

the Sun, not in circles but in ellipses,
was first demonstrated by

(a) Galileo
(b) Martin' Luther
fc) Johannes Kepler
(d) Copernicus
87. During the mid 19th century Industrial

Revolution, the average life span of
workers in Manchester was

(a) 17 years
(b) 30 years
(c) 55 years

(d) 62 years

88. George Washington was made. the
Commander in Chief of the American
forces

(a) in December 1773, after/the Boston
Tea Party

(b) at the First Continental Congress
in September 1774

fc) at the Second Continental Congress
in 1775

(d) by the Continental Congress at
the Declaration of Independence
on 4th July, 1776

BLS-E-EDF/67A

89. Alexander Kerensky was

(@) the head of the Provisional
! Government in Russia before the
October Revolution

(b) a close confidant of Lenin, with
whose help the Czar was dethroned

{c) the head of the, €zar’s army

(d) an advisor of Joseph Stalin

90. The Twelfth Five-Year Plan focussed

on inclusive growth. Which of the
following were considered as challenges
for inclusiveness?

1. Poverty

2. Group inequality

3. Regional imbalance

4. Unemployment

Select the correct answer using the code
given below.

(a) 1, 3 and 4 only
(b) 1,2, 3 and 4
fc) 1, 2 and 4 only

(d) 2 and 3 only
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85. T FHRSA fagdl7 A7 G A7 G&F F1 A@H 89. IS P FIA 97

T q W 37

e, < (@) Wﬁiﬁf%%ﬁmﬁaﬁﬁnm
(b) B TEY ¥ gume

(c) RS e

(d) T JeE (b) AfF F ufy framm, R T

R ! el W IAR T A1

86. 78 1A T wE, @@ ¥ =Wl Wﬁﬁqﬁﬁ’%ﬁ
drefadl § gHd 8, e Ted e weRfa a

e T Hf
off?

(@ 17 a9
(b) 30 a4
(c) 55
(d 62

88. TS AT i IHNHI T F1 A
e S4=1 T o917

(@) =IE =T 9 % v, fowe
(b) WM WeEE HEE % dnE, faown (b) 1,2,33R4

1774
(c) Teda AeEid™ +i0g & dRM, 1775 § (c) Faa 1,2 3N 4
(d) TEEME FEE T, 4 gAR, 1776 H
A=l 6 HN % aH (d) aa 2 IR 3
BLS-E-EDF/67A 33 2 vk o
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91. Which of the following statements are 94. Which of the following statements
correct about ‘Saakshar Bharat’ scheme? relating to the powers of the President
1. It is a centrally sponsored scheme . of India is/are correct?

which was launched during the 1. The executive power of the Union
Eleventh Five-Year Plan. shall be vested in the President.
2. The scheme applies to women in 2. The .executive HIENREL".. shall be
particular  and disadvantaged exercised by the President only
groups in general. through officers subordinate to
him. '
3. The scheme applies to persons
3. The supreme command of the
ab th f 10 years.
i o defence forces of the Union shall be
4. The scheme is anchored with vested in the President.
Panchayati Raj Institutions and E
Lcal Self-Giveriitnent, Select the correct answer using the code
given below.
Select the correct answer using the code
given below. el Ly 25 amd 3
(b) 1 and 2 only
(@ 1,2 and 3 (¢ 1 and 3 only
(b) 2, 3 and 4 (d)er3y0only
fc) 1,2 and 4 95, Which of the following statements

(d 1,3 and 4

regarding Article 21 of the Constitution
of India is/are correct?

1

92. BRICS Summit, 2016 was held in

(a) Brazil
(b) China
fc)
(d) South Aftica

India

93. Which country signed a Memorandum of
Understanding with India for prometing
the production of Pigeon peas/Tur and

other pulses in July 20167

(a) South Africa
(b) Syria
(c) Egypt
(d) Mozambique

BLS-E-EDF/67A
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Article 21 is violated when the
under-trial prisoners are detained
under judicial custody for an
indefinite period.

Right to life is one of the basic
human rights' and not even the
State has the authority to violate
that right.

Under Article 21, the right of
a woman to make reproductive
choices is not a dimension of
personal liberty.

Select the correct answer using the code
given below,

(@)
(b)
(c)
(d)

34

1, 2 and 3

1 and 2 only
1 and 3 only
2 only
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. ‘TR 9RA AN % ey § frefoRad § @

HIH-¥ FUT Fel 87

1. 98 @& %3 YEiwa 9o 2, T aredt
YeadTg GieHT & S ARY fohar m o)

2. I8 99 foRw w9 @ Afgened @in
[T Sfd agg | A Ed 2

3. FB A 10 9¥ B Al 31y F AREEl
R AL B B

4. I8 AN =EG U deens] o wrg
T I W AT 2

=1 o Y H2 HwEnT R el SR g |
(@ 1,2 ¥R 3

(b) 2,3 8R4
(c) 1,2 3K 4
(d 1,3 3R 4

92. BRICS firat §HeH, 2016 el MHEIRT g31

q1?

(@) STSfE

b) =M

(c) W

(d) <f&o YT

93. 0§ 2016 H fF¥ W I FRA/E| AR 7=

3l % IR FI 96 % U YR ¥ 91y
HHAT-T9 T gEdeR fhu?

(a) =fEor s
(b) HifE

(c) fra

(d) WTfFE

BLS-E-EDF/67A
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94. YRA % UpUfa it wfedl & wm=ry 3 freafaiea

H{ BH-91/3 w9 v R/

1. 99 i wEUes ke wgala #
il

2. TgHld gA R iy iRl
e o € FHE9TAs Wik 1 99 T
ST |

3. ¥4 H W Tl w1 A gHRwW
(supreme command) TEY # ffEq
BITT|

<=l T 1Y %2 HFRTER 9 IW g

(@ 1,2 3R 3

(b) a1 3R 2

fc) a1 3R 3

(d) *had 3

95. WRd + HiEAgH % =98 21 F WY A

HERad # | SH-91/8 FoF a8 2/37

L.  #Fgees 21 =1 AfsEau 99 B ®, 5
e ®feal = st ey &
fore =nfirer fewrad 3 Feg e st 3

2. SiieF 1 SRHR TH URYT HHATUFR
8 ¥R 9 fuer & sifoam 1wl
T4 % g8 off 781 R

3. FAFTSR 21 F I FHHD T FA
& [t wfeenm w1 AR e
A1 1 TH A= T8 8

o fow 7T F2 = wE W E@ IR g
(@ 1,2 3R 3
(b) HEA 1 3R 2
(c) Fad 1 3R 3
(d) I 2
[BAD .
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96. Which of the following statements is/are
correct regarding Right to Education in
India?

1. Free and compulsory education
should be provided to all children
of the age of six to fourteen years.

2. The imperative of the provision of
the Right to Education Act, 2009 is
that schools must have qualified
teachers and basic infrastructure.

3. There should be quality education
without any discrimination on the
ground of economic, social and
cultural background.

Select the correct answer using the code
given below.

(@ 1, 2 and 3
(b) 1 and 2 only
() 1 and 3 only
(d) 3 only

97. Which one of the following statements
regarding freedom to manage religious
affairs as per the Constitution of India is
not correct?

(a) Every,religious denomination shall
have the right to manage its own
affairs in matters of religion except
some miner communities.

(b) Every religion or any/ section
thereof shall have the right to
own and acquire movable and
immovable property.

(c) Every religious community has the
right to establish and maintain
institutions for religious and
charitable purposes.

(d) Every community has the right to
manage its own affairs in matters of
religion.

BLS-E-EDF/67A
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98. Which one of the following statements
relating to protection against arrest and
detention of individuals under Article 22
is not correct?

(a)

(b)

(c)

(d)

No person who is arrested shall be
detained in custody without being
informed of the grounds for such
arrest. '

No persomnshall'be denied the right
to consult;pand be defended by, a
legal practitioner of'his/her choice.

Every person who 1is arrested
and detained in custody shall
be produced before the nearest
Magistrate within a period of one
week of such arrest.

The right to protection against
arrest is not available to a person in
jail pursuant to a judicial order.

99, Which one of the following intellectual

property rights is protected without
making any registration?

(@)

(b)

(c)

(@)

Copyright

Patent

Industrial design

Trademark
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96. 9Rd # e & AR & R A F=fafeg T @
FH-1/2 Hu T B/F7

1. ® ¥ g 9 f g & wf o= F
e qw <R wafed fen =1 e
BT =R |

2. Tuam =1 wifeRr ofufam, 2000 #
Sy <l e & o femeEt d 9m
e 3R g sEee sEw B
=MfeT|

3. i, wmife o wiesfos ysaf %
AUR W o Tl Se91d. % Juiewig
e wem S =1z

e fou T e 1 ST o T S ghE
(@ 1,2 3R 3

(b) Haw 132

(c) ad 1 3R 3

(d) *ad 3

97. WRA & HioOUH % HIER =ififes HE & Ty
1 Tl & ey § e 3 ¥ SiE-a
ERERH K

(@) TS Y TUCHEl Dl DiSHt Ui Hiftis
TUSE Bl Y4 UHISTS HET H IS
HH & ATHER B

(b) &F o A1 e e W e @ =
3R =d T F @ $HR S F
SIBE N

(c) & s wgem ) uiftfs wa unid
TsA % fe denel f o o9k
b TG 1 ATFR & |

(d) TI% WHEE h A9 yHfavaE FE &
TerEd &l SIRER B
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98. IFwe 22 F IF=rid =AReAl Hi FREH 3R

Ry @ w5 gy & fafafag & @
SF-91 $YF 98 T8 87

(@)

(b)

(c)

(d)

fiRwR T MU =afer =) e & Fro
¥ g wC fomr eAfiwen § freg @
@ S |

Torelt =afe o1 1o B % Al wemeeR
J G FE SEEE W ¥ SARER
9 afaa &1 Tohan smam |

FREGR fhe U qen sthinen # g @
W IS Fhh $l 36 TREd ¥
TG ! a(d H fHehean afvree & a9y

Tga TeRAT STE |

=T A F gV § FUOR T @
Ty, f5El AR = freard @ e 5
>7ferehR WTH =&l 21 21

99, FHfRgd ¥ ¥ HH-91 Sifgs duer ifysR famn

Torefi gsfiestor & dxfara 37

(@)

(b)

(c)

(d)

wfafereaien (Fifse)

Ttz

ANt feums

HNR-5 (SSATh)

[P.T.O.
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100. Which one of the following indices is now
used by the Reserve Bank of India to
measure the rate of inflation in India?

(a) NASDAQ Index
(b) BSE Index
(c) Consumer Price Index

(d) Wholesale Price Index

101. The Most Favoured Nation (MFN) Clause
under WTO regime is based on the
principle of

(a) non-discrimination between nations
(b) discrimination between nations

(c) differential treatment
locals and foreigners

between

(d) uniform tariff across commodities

102. Goods and Services Tax likely to'be levied
in India is not a

(a) gross value tax
(b) value-added tax
{c) consumption tax

(d) destination-based tax

BLS-E-EDF/67A

103. Amartya Sen was awarded the Nobel
Prize for his contribution to

(a) Monetary Economics
(b) Welfare Economics
(c) Environmental Economics

(d) Development Economics

104. The rank.of Captain of the Indian
Navy is equivalentto which one of
the following?

(a) Captain of the Indian Army

(b) -Group Captain in the Indian
Air Force

{c) Lieutenant Colonel of the Indian
Army

(d) Wing Commander of the Indian
Air Force

105. Which one of the following statements
is correct in relation to the Indian
Air Force?

fa) It \has bases in many friendly
countries.

(b) It does not carry out joint exercises
with any country.

{c) It has a separate Maintenance
Command.

(d) No officer has ever been elevated to
the rank of Marshal of the Indian
Air Force,
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100. r+-1c1En H ¢ chid-41 Yeishich HRA T TR 103. 3 ¥ H I Ty fawg-87 § dem ¥
% R H A F A TR e % g e e e gERR Yo ek en?
WA T AR ST 27
(@) Hisw o
(@) NASDAQ {Thish
(b) HUHN AFITH

(b) BSE g%

(c) vty sdamE

(c) SUSRHI Iod YIHiH

(d) I qod g

101. WTO WTe-s4aeen ¥
(MFN) =1 5/ae

102. F=fafag § & $19-9r wa o @ 960
GIfed o7t Td a1 o A 2P

(@) EHA Tl

(b) T A () TR TH JUF FRE (FA) HATS
B 2
(c) ZF99FT = , |
(d) W ag A % R sf el @
(d) Taea-fE W (SETH-awe ) 37 T AT i SAee e o R
BLS-E-EDF/67A 39 ien o DRI O
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106. The Indian Navy in October 2016
commissioned the highly maneuverable
fast attack craft INS Tihayu, INS Tihayu
would be based in

(a) Kochi
(b) Panaji
{c) Visakhapatnam
(d) Mumbai
107. Which one of the following sectors is
not affected by the changes made in

the Foreign JDirect Investment Policy
in June 20167

{a) Multi-brand retailing
(b) Defence
(c) Private security agencies

(d) Manufacturing of small arms and
ammunitions covered under ' the
Arms Act, 1959

108. BREXIT refers to the Great Britain
leaving which one of the following?
fa) International Monetary Fund
(b) Commonwealth
fc) World Trade. Organization
(d) European Union
109. In which one of the following cities

are the Summer Olympics, 2020 going
to be held?

fa) London
(b) Paris
(c) Tokyo
{d) Moscow

BLS-E-EDF/6TA

110. Who among the following is the President
of Republic of the Union of Myanmar?

fa) Aung San Suu Kyi
(b) Htin Kyaw

(c) Myint Swe

(d) Henry Van Thio

Directions :

The following.two._(2) items consist of two
statements, Statement)] ‘and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code ;

(c). Both the statements are
individually true and Statement II
is the correct explanation of
Statement 1

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement I

{ch Statement I is true but Statement II
is false

(d) Statement I is false but Statement II
is\true

111. Statement I :

The passing of the Coercive Acts made
reconciliation between Britain and her
American colonies virtually impossible.

Statement II :

The British Parliament, having issued
the Stamp Act in 1765, repealed it
later.

40
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106. 3FEsX 2016 H 9RG™ NG ¥ i 110. s#ﬁ%miwﬁa%maamgqﬁfﬂw%?
=T a1 i s S INS fierg :
= Wit W R INS fieg wel s (@) 3T EH G
BT

(a) EqE|
(c) ToremEmz™ (d) T RrY

(b) T\ =E

(a)

(b) TEHSH (d) w1 ST & Teg e 116 3
(c) Tova =R ¥

(d) FUTE I

109. fr=feraa 3 & fore TR & 1o yiies (Hfda) sftee & o 99 2

2020 B S @ 87 _ o R 3o omfeEh SofEet ¥ <=

(@) @& ; He-TeiTy Tega: srEva 8 T

(b) U@ ' FUI

fel, 2 faftw wws, R 1765 # v fufrm

(d) TR it foram o, 3 96 & 38 s = T
BLS-E-EDF/67A 41

[P.T.O.

Join Telegram : https://t.me/defenceekaksha



LET’S LEARN TOGETHER

112. Statement I :

The Poona Pact provided for 151
reserved seats for the scheduled
castes to be elected by a joint, not
separate, electorate.

Statement II :

Dr. B. R. Ambedkar withdrew from
active politics for almost a decade
when the Communal Award was
revoked.

113. Which one of the following statements
about the Alllndia Depressed Classes
Association' is not correct?

(@) The All India Depressed Classes
Association was formed in Nagpur
with M. C. Rajah as its first elected
President.

(b) The All India Depressed Classes
Association was not attended by
Dr. B. R. Ambedkar in 1926.

() Ambedkar resigned from the
All India Depressed Classes
Association and formed his own
All India Depressed Classes
Congress in 1930,

(d) The All India Depressed Classes
Association favoured Ambedkar’s
demand ‘for separate electorate for
the depressed-classes.

114. Which one of the following/statements
about the Justice Party is not correct?

(a) It clamoured for the 'same kind of
separate communal representation
for the Non-Brahmins as had been
granted to the Muslims by the
Morley-Minto Reforms.

(b) It was patronized mainly by richer
landowning and urban middle class
Non-Brahmins.

BLS-E-EDF/67A

fc) It succeeded in getting the
provision for 28 reserved seats for
the Non-Brahmins in the Montagu-
Chelmsford Reforms.

(d} 1t supported the call given by
the Congress to boycott elections
in 1920.

115. The Ryotwari experiment in land revenue

was started by

(a) Henry Dundaé
fb} Alexander Reed
(c) David Ricardo

(d)° Mountstuart Elphinstone

116.° Which of the following statements is/are

correct regarding the Preamble of the
Indian Constitution?

1/ The Preamble by itself is not
enforceable in a Court of Law.

2. The Preamble states the objectives
which the Constitution seeks to
establish and promote.

3. . The Preamble indicates the source
from which the Constitution
derives its authority.

Select the correct answer using the code
given below.

(@ 1, 2 and 3
(b) 1 and 2 only
(c/ 1 and 3 only

(d) 2 only
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112, ¥ 1.

ST il % fog 151 i wrr ¥
T W # ug wEyH o B fefe o
wgd, 7 f6 gug, Fefewiea g fwn
S|

YA 11 @

glo o R0 oed wiFY USHIY X
T TF H % Y Stem @ Mg A,
FHEAC SIS T8 fohaT T o

113. 9 sfsq TORE ooy THIftuse & an &
Freferfd # @ -1 s ol 7@ 87

(@) AT Ffea lee wa@w EIfeH &
T ARG H e o, ek e faifa
AL THo Hlo ST 9|

To o Mo SR 1926 F 7
3o Toive oomig wEiRicys § il
71 g A

FeTR 4 AE few felw Tamw
wHIfeyE § swfier € femn siR 1930 ®
g w Al few feie e Fh-
EEiRifl

sia sfew fodee sodE wHifmem 3
sfqa o Tg uusm FalEedes 6
{rerEaRt I A1 i wweH Ry

(b)

(c)

@

114. Sifeq i & R # Frefafaa §/@ SR $o09

HEl 75 87

(@ 3T T-smErl & fag ff S§ TER %
gy WEEIaE St % T stam
9%, sE 5 AG-fR gudt % ogm
Afectdt 1 e foran < st o)

(b) T g ¥4 ¥ it y-wfieE ok wEh
TR-STRToT 7AW =i o GLAOT HTH o7 |
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fc) T8 HieY-IrHe gurl # R-smami %
1T 28 rfar vl %1 wavH wEy &
HheTdT 9Ts |

(d) T84 1920 # AT % afewER % R
| I SR TR T STTEE i wme e

115. -TSE § Waard! W &1 yRy Reas g
Tepa TN

(@ ¥ g
(b) IR e
(c) sfae et
(d) "TRTEHE Tferaed

116. A < Hfees it 3efen & an & F=fifeg 3§
¥ F-91/8 YA we 37
1. el =1 = ¥ yady a6 2

2. R 7 R F A 2, =
Hfaum wefie e 3R 3 ST S
7

3. Wf 39 W # 3 = 2, el @
HiEaT 3971 WIftesR Wy e 2

I o 18 e 1 SR o EE e ghi)
(@ 1,2 3R 3
(b) A 1 ¥R 2
() +aa 1 3R 3
(d) *ad 2
[P 1.0
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117. Which one of the following statements
relating to cultural and educational
rights in India is not correct?

(@)

(b)

()

(d)

Every section of the citizens has
the right to conserve its language,
script or culture.

No citizen shall be denied
admission into any educational
institution maintained by the State
or receiving aid out of State funds
on grounds of religion, race or
language.

The State shall, in granting aid to
educational institutions, discrimi-
nate against any educational
institution on the ground that it is
under the management of a
majority community.

All minorities, whether based on
religion or language, shall have
the right! to establish | and
administer educational institutions
of their choice.

118. Which one of the following statements
relating to the 'Directive Principles of
State Policy is not correct?

(@)

(b)

(c)

(d)

The provisions contained in Part IV
of the Constitution of India shall
not be enforceable by any Court.

The Directive Principles /of State
Policy are fundamental in the
governance of the country.

It shall be the duty of the State to
apply the Directive Principles in
making laws.

The

Directive  Principles are
directed in making India an
advanced capitalist country of
the world.
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119, Which one of the following statements
is not correct regarding the Office of
the Vice President of India?

(@)

(b)

()

()

The Vice President is elected by
an electoral college consisting of
the elected members of both the
Houses of the Parliament.

The Vice President is elected in
accordance..with the system of
proportional  representation by
means of single trapsferable vote.

The Vice President shall not be
a member of either House of the
Parliament or of a House of the
Legislature of any State.

The Vice President of India shall
be ex officio Chairman of the
Council of States and shall not
hold any office of profit.

120. Which one of the following constitutional

authorities inquires and decides

in

case of doubts and disputes arising
out of election of the President and Vice
President of India?

(@)
(b)
@

(d)

The Supreme Court of India
The Election Commission of India
The Parliamentary Committee

The High Court of Delhi
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117. ¥Rd H WEpfos oK dfdms aitmrl % a) &
TfeRed & & -91 w7l 27

(@) AT & T a7 A qud s, fAf
A HEHI I ST T T IIYFR B

TST 3R OIfya 91 Tsa-ffd | wamar
F I TRt $iftres deam § R oft
arifen =t o, Yefy 91 9w % oER W
wou o @ SRa T8 R s

(b)

(c) i&F FEAHi Dl FEEATEH i ¥,

T4 Tordll Siftrs deam & vfd =9 omuw

T T I8 TRt sgeeas TR & yer
% 37efid B, e |

gd a1 W R oK s smnRa wdi
ST i AT B9 = fefew Gl
H Y B SR S HEIeH
IR g |

(d)

118. U9 & +ify & fFvs-aal & o=y #
FrfaRaa 98 ®H-91 %29 98 T2 27

(@) 9RG & GEOUE & uE v oF e
sy fordt ff <mae™ gR wEaHiE Je
Huf

(b) < F A B T il F Feyw-aw
oo |

(c) TSI 1 98 Faed g T w7 w0
Frevrs-aw A AL R

(d) TRus-gw, wa = B & @ =@
GShardl 3 59 % fog ffde 7
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119. YRd & SWEIA & HEed $ gy 3
Fefafaa § 9 SF-a1 w98 78 27

(@) ¥92 & 3 Gl & FEifg o= 3
e s 99 % FElEsdsd @
IR w1 Fatea foram s 2

Iwgatd %1 fafam sy stk
G % FIER THS EHAUE HA % gRI
T3ha1 ST 21

(b)

SEYfG §9e 3 Rt ot wew w1 a1 Tt
US4 & [OuFHsa & ¥ed &1 959 1a
Sl

(c)

Id T:Fr':-mgqﬁ T W F A
i 8 SR ST %1 IS 99 gRor 76
F |

(d)

120. ¥Rd & g4 IR IWEefd & fafm § 33
Hegl R fFEEl F ome § wf" o ff
Efared 8 ¥ fre wifaafs witeo g
fhe S 27

(.a) WA 1 I T
(b) ¥Ra =1 THatem smEm
(c) wesa afifa

(@) g 3= =mre

[P.T. O.
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